					tion Inc., dba TK	Big B	en Inc.	H&H General Contractors		Norstar Plumbing		SRD Engineering	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$8,000.00	\$8,000.00	\$70,000.00	\$70,000.00	\$135,000.00	\$135,000.00	\$25,000.00	\$25,000.00	\$69,000.00	\$69,000.00
2	Traffic Control	1	LS	\$1,175.00	\$1,175.00	\$7,000.00	\$7,000.00	\$2,875.00	\$2,875.00	\$1,000.00	\$1,000.00	\$28,855.00	\$28,855.00
3	Erosion Control	1	LS	\$1,500.00	\$1,500.00	\$7,000.00	\$7,000.00	\$11,500.00	\$11,500.00	\$1,000.00	\$1,000.00	\$9,300.00	\$9,300.00
4	Imported Fill	460	CY	\$37.00	\$17,020.00	\$22.00	\$10,120.00	\$18.75	\$8,625.00	\$40.00	\$18,400.00	\$32.00	\$14,720.00
5	8' High Tubular Steel Fence	136	LF	\$137.00	\$18,632.00	\$142.00	\$19,312.00	\$166.00	\$22,576.00	\$150.00	\$20,400.00	\$237.00	\$32,232.00
6	8' High 10' Wide Tubular Steel Fence Swing Gate	1	EA	\$1,300.00	\$1,300.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$9,900.00	\$9,900.00
7	Masonry Pilaster	2	EA	\$3,100.00	\$6,200.00	\$4,500.00	\$9,000.00	\$7,745.00	\$15,490.00	\$8,000.00	\$16,000.00	\$9,260.00	\$18,520.00
8	Pedestrian Ramp	1	EA	\$8,429.00	\$8,429.00	\$6,000.00	\$6,000.00	\$6,600.00	\$6,600.00	\$8,000.00	\$8,000.00	\$3,650.00	\$3,650.00
9	Concrete Driveway	110	SF	\$67.00	\$7,370.00	\$18.00	\$1,980.00	\$37.60	\$4,136.00	\$56.00	\$6,160.00	\$26.00	\$2,860.00
10	Concrete Sidewalk	312	SF	\$23.00	\$7,176.00	\$14.00	\$4,368.00	\$11.00	\$3,432.00	\$20.00	\$6,240.00	\$11.00	\$3,432.00
11	Curb and Gutter	162	LF	\$100.00	\$16,200.00	\$65.00	\$10,530.00	\$70.00	\$11,340.00	\$75.00	\$12,150.00	\$89.00	\$14,418.00
12	Concrete Cross Gutter	280	SF	\$50.00	\$14,000.00	\$26.00	\$7,280.00	\$32.00	\$8,960.00	\$48.00	\$13,440.00	\$19.00	\$5,320.00
13	Lift Station Yard 3/4" Crushed Rock	11	CY	\$550.00	\$6,050.00	\$350.00	\$3,850.00	\$236.00	\$2,596.00	\$1,000.00	\$11,000.00	\$224.00	\$2,464.00
14	Facing Class Riprap	20	CY	\$260.00	\$5,200.00	\$210.00	\$4,200.00	\$300.00	\$6,000.00	\$500.00	\$10,000.00	\$236.00	\$4,720.00
15	Equipment: Duplex Submersible Package Lift Station Equipment (Q=150 gpm, 100' TDH)	1	EA	\$59,410.00	\$59,410.00	\$51,000.00	\$51,000.00	\$66,700.00	\$66,700.00	\$60,000.00	\$60,000.00	\$62,130.00	\$62,130.00
16	Duplex Submersible Package Lift Station Installation	1	LS	\$27,800.00	\$27,800.00	\$42,000.00	\$42,000.00	\$98,300.00	\$98,300.00	\$55,000.00	\$55,000.00	\$17,240.00	\$17,240.00
17	Equipment: Valve Vault	1	EA	\$18,400.00	\$18,400.00	\$13,000.00	\$13,000.00	\$20,900.00	\$20,900.00	\$20,000.00	\$20,000.00	\$20,270.00	\$20,270.00
18	Valve Vault Installation	1	LS	\$8,400.00	\$8,400.00	\$14,500.00	\$14,500.00	\$3,105.00	\$3,105.00	\$45,000.00	\$45,000.00	\$9,550.00	\$9,550.00
19	Equipment: Lift Station Control Panel	1	EA	\$28,500.00	\$28,500.00	\$5,000.00	\$5,000.00	\$32,400.00	\$32,400.00	\$30,000.00	\$30,000.00	\$31,375.00	\$31,375.00
20	Lift Station Control Panel Installation	1	LS	\$19,300.00	\$19,300.00	\$4,000.00	\$4,000.00	\$11,800.00	\$11,800.00	\$45,000.00	\$45,000.00	\$11,040.00	\$11,040.00
21	HMA (Hot Mix Asphalt)	14	Ton	\$204.00	\$2,856.00	\$200.00	\$2,800.00	\$287.00	\$4,018.00	\$200.00	\$2,800.00	\$300.00	\$4,200.00
22	Crushed Aggregate Base	10	CY	\$55.00	\$550.00	\$120.00	\$1,200.00	\$253.00	\$2,530.00	\$75.00	\$750.00	\$300.00	\$3,000.00
23	Slurry Seal	42,600	SF	\$0.46	\$19,596.00	\$0.50	\$21,300.00	\$0.58	\$24,708.00	\$0.43	\$18,318.00	\$0.80	\$34,080.00
24	Pavement Markings	1	LS	\$7,200.00	\$7,200.00	\$7,500.00	\$7,500.00	\$5,800.00	\$5,800.00	\$2,000.00	\$2,000.00	\$7,090.00	\$7,090.00
25	4' Sewer Manhole	9	EA	\$4,800.00	\$43,200.00	\$7,000.00	\$63,000.00	\$3,300.00	\$29,700.00	\$10,000.00	\$90,000.00	\$4,850.00	\$43,650.00

					tion Inc., dba TK ruction	Big Ben Inc.		H&H General Contractors		Norstar Plumbing		SRD Engineering	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
26	Force Main Discharge Manhole	1	EA	\$7,800.00	\$7,800.00	\$7,000.00	\$7,000.00	\$5,600.00	\$5,600.00	\$5,000.00	\$5,000.00	\$5,950.00	\$5,950.00
27	8' Diameter Emergency Storage Vault	1	LS	\$34,000.00	\$34,000.00	\$40,000.00	\$40,000.00	\$36,200.00	\$36,200.00	\$30,000.00	\$30,000.00	\$38,000.00	\$38,000.00

					tion Inc., dba TK ruction	Big B	en Inc.	H&H Genera	I Contractors	Norstar	Plumbing	SRD Eng	gineering
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
28	Shade Structure	1	LS	\$5,100.00	\$5,100.00	\$22,000.00	\$22,000.00	\$19,200.00	\$19,200.00	\$10,000.00	\$10,000.00	\$38,000.00	\$38,000.00
29	Concrete Grade Rings	1	LS	\$8,900.00	\$8,900.00	\$3,500.00	\$3,500.00	\$13,800.00	\$13,800.00	\$2,500.00	\$2,500.00	\$15,750.00	\$15,750.00
30	Misc Piping, Spools, and Fittings	1	LS	\$12,600.00	\$12,600.00	\$11,000.00	\$11,000.00	\$24,500.00	\$24,500.00	\$16,000.00	\$16,000.00	\$64,485.00	\$64,485.00
31	4" C-900 PVC DR-14 Force Main	1,310	LF	\$69.00	\$90,390.00	\$76.00	\$99,560.00	\$89.50	\$117,245.00	\$90.00	\$117,900.00	\$136.00	\$178,160.00
32	8" VCP	1,801	LF	\$145.00	\$261,145.00	\$167.00	\$300,767.00	\$134.00	\$241,334.00	\$155.00	\$279,155.00	\$143.00	\$257,543.00
33	4" Eccentric Plug Valve	2	EA	\$805.00	\$1,610.00	\$2,000.00	\$4,000.00	\$1,840.00	\$3,680.00	\$4,000.00	\$8,000.00	\$2,330.00	\$4,660.00
34	Force Main Cleanout	9	EA	\$2,155.00	\$19,395.00	\$8,500.00	\$76,500.00	\$3,705.00	\$33,345.00	\$13,000.00	\$117,000.00	\$3,600.00	\$32,400.00
35	4" Sewer Lateral	200	LF	\$112.00	\$22,400.00	\$132.00	\$26,400.00	\$141.00	\$28,200.00	\$120.00	\$24,000.00	\$211.00	\$42,200.00
36	1" Service and Hose Bib	1	EA	\$3,100.00	\$3,100.00	\$7,000.00	\$7,000.00	\$12,200.00	\$12,200.00	\$12,000.00	\$12,000.00	\$7,800.00	\$7,800.00
37	1" Combination Sewage Air Release and Vacuum Valve	1	EA	\$3,400.00	\$3,400.00	\$8,000.00	\$8,000.00	\$9,800.00	\$9,800.00	\$7,000.00	\$7,000.00	\$11,850.00	\$11,850.00
38	Remove Septic Systems (2)	1	LS	\$21,100.00	\$21,100.00	\$8,000.00	\$8,000.00	\$13,500.00	\$13,500.00	\$10,000.00	\$10,000.00	\$13,650.00	\$13,650.00
39	Landscaping Restoration	1	LS	\$10,812.00	\$10,812.00	\$7,000.00	\$7,000.00	\$1,150.00	\$1,150.00	\$1,000.00	\$1,000.00	\$5,500.00	\$5,500.00
40	Electrical Service Entrance Section	1	LS	\$9,900.00	\$9,900.00	\$16,000.00	\$16,000.00	\$10,300.00	\$10,300.00	\$11,000.00	\$11,000.00	\$9,900.00	\$9,900.00
41	Generator	1	LS	\$38,000.00	\$38,000.00	\$61,000.00	\$61,000.00	\$46,000.00	\$46,000.00	\$45,000.00	\$45,000.00	\$47,750.00	\$47,750.00
42	Distribution Panelboard	2	EA	\$5,000.00	\$10,000.00	\$6,500.00	\$13,000.00	\$5,200.00	\$10,400.00	\$8,500.00	\$17,000.00	\$4,950.00	\$9,900.00
43	ATS Cabinet	1	LS	\$4,400.00	\$4,400.00	\$21,500.00	\$21,500.00	\$4,600.00	\$4,600.00	\$12,000.00	\$12,000.00	\$8,720.00	\$8,720.00
44	Site Light	1	EA	\$5,900.00	\$5,900.00	\$22,500.00	\$22,500.00	\$8,700.00	\$8,700.00	\$12,000.00	\$12,000.00	\$3,000.00	\$3,000.00
45	Underground Street Light Electrical Service	1	LS	\$7,500.00	\$7,500.00	\$21,500.00	\$21,500.00	\$2,875.00	\$2,875.00	\$12,000.00	\$12,000.00	\$1,765.00	\$1,765.00
46	Mini Power Zone Transformer	1	EA	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$3,700.00	\$3,700.00	\$24,000.00	\$24,000.00	\$3,520.00	\$3,520.00
47	4-PR #16 AWG Conductors	100	LF	\$11.00	\$1,100.00	\$2.00	\$200.00	\$11.50	\$1,150.00	\$35.00	\$3,500.00	\$11.00	\$1,100.00
48	#8 AWG Conductors	300	LF	\$4.00	\$1,200.00	\$2.50	\$750.00	\$4.00	\$1,200.00	\$5.00	\$1,500.00	\$4.00	\$1,200.00
49	#12 AWG Conductors	100	LF	\$3.00	\$300.00	\$2.00	\$200.00	\$3.00	\$300.00	\$15.00	\$1,500.00	\$3.00	\$300.00
50	#3/0 AWG Conductors	800	LF	\$5.00	\$4,000.00	\$7.00	\$5,600.00	\$4.90	\$3,920.00	\$5.00	\$4,000.00	\$5.00	\$4,000.00
51	2" Schedule 40 PVC Electrical Conduit	600	LF	\$15.00	\$9,000.00	\$10.00	\$6,000.00	\$15.25	\$9,150.00	\$15.00	\$9,000.00	\$15.00	\$9,000.00
52	2" RGS Conduit	20	LF	\$28.00	\$560.00	\$30.00	\$600.00	\$28.75	\$575.00	\$30.00	\$600.00	\$28.00	\$560.00
53	SCE Electrical Service Allowance	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$6,000.00	\$6,000.00	\$50,000.00	\$50,000.00
	BID SCHEDULE TOTAL				\$1,000,576.00		\$1,231,517.00		\$1,255,215.00		\$1,320,313.00		\$1,329,679.00

				Boudreau Ex	ccavating Inc.	Borde	en Inc.	GRFC	GRFCO Inc. Spiess		Spiess Construction Co., Inc.		
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total		
1	Mobilization	1	LS	\$89,000.00	\$89,000.00	\$4,628.00	\$4,628.00	\$30,000.00	\$30,000.00	\$223,850.00	\$223,850.00		
2	Traffic Control	1	LS	\$26,100.00	\$26,100.00	\$1,500.00	\$1,500.00	\$15,000.00	\$15,000.00	\$263,850.00	\$263,850.00		
3	Erosion Control	1	LS	\$16,600.00	\$16,600.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$17,050.00	\$17,050.00		
4	Imported Fill	460	CY	\$96.00	\$44,160.00	\$2.00	\$920.00	\$60.00	\$27,600.00	\$35.20	\$16,192.00		
5	8' High Tubular Steel Fence	136	LF	\$206.00	\$28,016.00	\$100.00	\$13,600.00	\$100.00	\$13,600.00	\$297.00	\$40,392.00		
6	8' High 10' Wide Tubular Steel Fence Swing Gate	1	EA	\$6,640.00	\$6,640.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$3,250.00	\$3,250.00		
7	Masonry Pilaster	2	EA	\$10,300.00	\$20,600.00	\$3,500.00	\$7,000.00	\$2,000.00	\$4,000.00	\$8,085.00	\$16,170.00		
8	Pedestrian Ramp	1	EA	\$3,100.00	\$3,100.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$1,100.00	\$1,100.00		
9	Concrete Driveway	110	SF	\$25.00	\$2,750.00	\$40.00	\$4,400.00	\$20.00	\$2,200.00	\$14.30	\$1,573.00		
10	Concrete Sidewalk	312	SF	\$11.00	\$3,432.00	\$15.00	\$4,680.00	\$10.00	\$3,120.00	\$9.90	\$3,088.80		
11	Curb and Gutter	162	LF	\$70.00	\$11,340.00	\$50.00	\$8,100.00	\$60.00	\$9,720.00	\$24.20	\$3,920.40		
12	Concrete Cross Gutter	280	SF	\$22.00	\$6,160.00	\$30.00	\$8,400.00	\$15.00	\$4,200.00	\$12.10	\$3,388.00		
13	Lift Station Yard 3/4" Crushed Rock	11	CY	\$480.00	\$5,280.00	\$100.00	\$1,100.00	\$100.00	\$1,100.00	\$365.00	\$4,015.00		
14	Facing Class Riprap	20	CY	\$525.00	\$10,500.00	\$150.00	\$3,000.00	\$200.00	\$4,000.00	\$174.90	\$3,498.00		
15	Equipment: Duplex Submersible Package Lift Station Equipment (Q=150 gpm, 100' TDH)	1	EA	\$61,000.00	\$61,000.00	\$85,000.00	\$85,000.00	\$120,000.00	\$120,000.00	\$74,800.00	\$74,800.00		
16	Duplex Submersible Package Lift Station Installation	1	LS	\$38,000.00	\$38,000.00	\$250,000.00	\$250,000.00	\$25,000.00	\$25,000.00	\$106,700.00	\$106,700.00		
17	Equipment: Valve Vault	1	EA	\$17,000.00	\$17,000.00	\$27,000.00	\$27,000.00	\$25,000.00	\$25,000.00	\$33,000.00	\$33,000.00		
18	Valve Vault Installation	1	LS	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$21,230.00	\$21,230.00		
19	Equipment: Lift Station Control Panel	1	EA	\$8,000.00	\$8,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$38,500.00	\$38,500.00		
20	Lift Station Control Panel Installation	1	LS	\$9,300.00	\$9,300.00	\$22,000.00	\$22,000.00	\$15,000.00	\$15,000.00	\$27,280.00	\$27,280.00		
21	HMA (Hot Mix Asphalt)	14	Ton	\$577.00	\$8,078.00	\$200.00	\$2,800.00	\$300.00	\$4,200.00	\$525.00	\$7,350.00		
22	Crushed Aggregate Base	10	CY	\$550.00	\$5,500.00	\$100.00	\$1,000.00	\$60.00	\$600.00	\$396.00	\$3,960.00		
23	Slurry Seal	42,600	SF	\$0.50	\$21,300.00	\$0.10	\$4,260.00	\$0.75	\$31,950.00	\$2.20	\$93,720.00		
24	Pavement Markings	1	LS	\$7,000.00	\$7,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$8,360.00	\$8,360.00		
25	4' Sewer Manhole	9	EA	\$6,200.00	\$55,800.00	\$12,200.00	\$109,800.00	\$9,000.00	\$81,000.00	\$3,960.00	\$35,640.00		

				Boudreau E	xcavating Inc.	Borde	en Inc.	GRFC	CO Inc.	Spiess Construction Co., Inc.	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
26	Force Main Discharge Manhole	1	EA	\$5,300.00	\$5,300.00	\$8,500.00	\$8,500.00	\$10,000.00	\$10,000.00	\$6,600.00	\$6,600.00
27	8' Diameter Emergency Storage Vault	1	LS	\$39,000.00	\$39,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$46,200.00	\$46,200.00

				Boudreau E	cavating Inc.	Bord	en Inc.	GRFC	CO Inc.	Spiess Constr	ruction Co., Inc.
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
28	Shade Structure	1	LS	\$44,400.00	\$44,400.00	\$100,000.00	\$100,000.00	\$45,000.00	\$45,000.00	\$27,500.00	\$27,500.00
29	Concrete Grade Rings	1	LS	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$2,970.00	\$2,970.00
30	Misc Piping, Spools, and Fittings	1	LS	\$18,000.00	\$18,000.00	\$222,555.00	\$222,555.00	\$80,000.00	\$80,000.00	\$15,400.00	\$15,400.00
31	4" C-900 PVC DR-14 Force Main	1,310	LF	\$112.00	\$146,720.00	\$60.00	\$78,600.00	\$190.00	\$248,900.00	\$131.20	\$171,872.00
32	8" VCP	1,801	LF	\$157.00	\$282,757.00	\$170.00	\$306,170.00	\$240.00	\$432,240.00	\$170.80	\$307,610.80
33	4" Eccentric Plug Valve	2	EA	\$1,940.00	\$3,880.00	\$5,500.00	\$11,000.00	\$4,000.00	\$8,000.00	\$4,840.00	\$9,680.00
34	Force Main Cleanout	9	EA	\$5,200.00	\$46,800.00	\$7,000.00	\$63,000.00	\$1,000.00	\$9,000.00	\$11,200.00	\$100,800.00
35	4" Sewer Lateral	200	LF	\$59.00	\$11,800.00	\$50.00	\$10,000.00	\$150.00	\$30,000.00	\$91.30	\$18,260.00
36	1" Service and Hose Bib	1	EA	\$15,500.00	\$15,500.00	\$7,500.00	\$7,500.00	\$3,000.00	\$3,000.00	\$6,600.00	\$6,600.00
37	1" Combination Sewage Air Release and Vacuum Valve	1	EA	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$8,030.00	\$8,030.00
38	Remove Septic Systems (2)	1	LS	\$24,000.00	\$24,000.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$19,800.00	\$19,800.00
39	Landscaping Restoration	1	LS	\$17,000.00	\$17,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$20,350.00	\$20,350.00
40	Electrical Service Entrance Section	1	LS	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$15,400.00	\$15,400.00
41	Generator	1	LS	\$51,000.00	\$51,000.00	\$50,000.00	\$50,000.00	\$95,000.00	\$95,000.00	\$99,550.00	\$99,550.00
42	Distribution Panelboard	2	EA	\$5,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$75,000.00	\$150,000.00	\$7,700.00	\$15,400.00
43	ATS Cabinet	1	LS	\$4,300.00	\$4,300.00	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$7,150.00	\$7,150.00
44	Site Light	1	EA	\$10,200.00	\$10,200.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$3,080.00	\$3,080.00
45	Underground Street Light Electrical Service	1	LS	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$20,000.00	\$20,000.00	\$7,480.00	\$7,480.00
46	Mini Power Zone Transformer	1	EA	\$3,460.00	\$3,460.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	\$3,520.00	\$3,520.00
47	4-PR #16 AWG Conductors	100	LF	\$12.00	\$1,200.00	\$5.00	\$500.00	\$10.00	\$1,000.00	\$11.00	\$1,100.00
48	#8 AWG Conductors	300	LF	\$5.00	\$1,500.00	\$2.00	\$600.00	\$8.00	\$2,400.00	\$3.85	\$1,155.00
49	#12 AWG Conductors	100	LF	\$4.00	\$400.00	\$5.00	\$500.00	\$10.00	\$1,000.00	\$2.75	\$275.00
50	#3/0 AWG Conductors	800	LF	\$6.00	\$4,800.00	\$0.14	\$112.00	\$5.00	\$4,000.00	\$13.20	\$10,560.00
51	2" Schedule 40 PVC Electrical Conduit	600	LF	\$26.00	\$15,600.00	\$24.65	\$14,790.00	\$35.00	\$21,000.00	\$20.00	\$12,000.00
52	2" RGS Conduit	20	LF	\$56.00	\$1,120.00	\$27.00	\$540.00	\$40.00	\$800.00	\$27.50	\$550.00
53	SCE Electrical Service Allowance	1	LS	\$50,000.00	\$50,000.00	\$6,500.00	\$6,500.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
	BID SCHEDULE TOTAL				\$1,359,393.00		\$1,707,555.00		\$1,852,630.00		\$2,040,770.00